Efficiency vs dr

v 02

<
©0.18
20.16
c
Q
50.14
=
®0.12
0.1
0.08
0.06
0.04
0.02
af

Ratio
o
&

DQMstep3_QCD_default CHECK

1078 1072 107t

[ Efficiency vs dr (track,jet) |

§0.05
00.045
=
x
<]0.04
9.035
)
=0.03
o
j5=€).025
)
0.02
0.015
0.0
0.005
Ql

Ratio

0.95

1073 1072

1
AR(TP, jét)

Efficiency vs pu

0.5

) =
- F
(go455— -------------------------------------------------
?04;—-» -------------------------------------------------
(5} o
§035_— ------------------------------------------------
= o
q’0,3;_ ..............................................
0.252—- e FEPEEE SEPESE DEPES R S R
e s S N
T RN OUEE SURNRISPPN SO S O M XA
O - {ifrerienesiiie ot
T
o Gfl++l | I+..I....I....
*‘—G' r o o b :
o [
o.905-EE R Rl R H - R AR R AR

%9620 30 40 50 60 70 80 90 100

Pileup

1
TP min AR

-1




	Contents
	Page 1


